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5. CQwunmwuwnb] mwpbulqph wqun duwgnpnp.

Jwpswlwt pynghk’ 15634681.3 << npwd
Snunwjht pynipk’ 994998.74< npud

2. dwpswlwl pjnigbh nwpbulqph wqun duwgnpnhg' 15634681.3 <<
npwdhg 600000 << npwd twjuwwnbub] twjunpy wwphubph Wwpwnp'
01/6/1 funudp Gupwfudph 4212 hnpwdnid, 15034681.3 <L npwdp ninnb

2021 pYulwuh $nunuihu pnipk’

2.1. 09/1/1 junudp Gupwfudph 5113 hnnwé’ 1000000 << npwd,

2.2. 09/1/1 junuip Bupwfudph 5122 hnnjwéhu* 3000000 << ppwd
2.3. 09/1/1 junuip Gupwjudph 5131 hnnwéht' 600000 << npuwd,
2.4. 08/6/1 fjunudp Gupwfudph 5113 hnnjwdéshu 2000000 << ppuwd,
2.5. 08/6/1 funufp Gupwfudph 5122 hnnwsht* 1000000 << npuwd,
2.6. 01/1/1 funuip Gupwfudph 5122 hnnwsht* 1300000 << npwd
2.7. 01/6/1 funuip Gupwjudph 5131 hnnjwéhu® 400000 << npuwd,
2.8. 01/6/1 junuip bupwfudph 5113 hnnywsht* 4734681.3 << npud,
2.9. 01/6/1 junuip Gupwfudph 5134 hnnjwéht' 1000000 << npuwd:

3. dnunwyht pynigkh mwpbuliqph wqun duwgnpnp' 994998.7 << npwdp
ninnt| 2021 pwlwuh $nunujhu pynigk’ 01/6/1 funuip Gupwhudph 5113
hnnduwé:

4. << MbGnwlwi pngbhg Yuwhwwy éwljuubph $huwtuwynpiwi
Uywwwlwiht hwwnlugnuubp (unipdbughwubp)>> Bwdnun twjwnbub)
6928500 << npwd L ninnkj 08/6/1 funuip tupwfudph 5113 hnnjwshu:

e Lwdwjuph pjngkh Blwdnunubipp
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h/h GuuuntsueN 2021p.
Owpuwunbudwd
1 <nnh hwpy 3100.0
2 gnypwhuwnly 13400.0
3 Stinwlwu ninippbip 5505
4 Muwonnbwlwl npwuudbipnubp 63160.5
S5, Jwpdwlwwywu hnnh Jéwnp 270.9
6 U Blwdnunubip 0
7 Stnwlwu Jewpubip 1500.0
8 uns. pj. wwhnwwnwihtu $nunhg $nun. pngt hwinlwgnud 0
9 Mbw.  pnwbhg  Ywwhunw  dwluubph  $puwtuwynpdw 6928,5
bywwnwwiht hwinwgnuubp (unipdbughwubn)
cLuvesLe 88910.4
e Cwdwjuph pynigbih dwhuubipp putn gnpdwnuwlwlu nwuwywpglw,
h/h ounuen 2021p.
Owuwunbudwé
01/1/1 {wiw)bpwwbunwnwl 38435.0
01/6/1 pUnhwbnip pGnyph hwn. dwn. 10709.7
01/6/1 pOnhwbnip panyph hwp. éwe. /0w, dwd. wwpwnp/ 1200.0
04/2/1 gjninwunbwntuntpntl 600.0
04/9/1 nlwn. hwpwp./w) nwuh swwuwny./ 0
05/1/1 wnpwhwbnipyntl 1700.0
08/3/2 hpwuinwpwysnipnlbGbn 60.0
08/6/1 hwbOghuwn dwynye L Ypnh 11578.5
09/111 Owhuwnwnngwywb Yppnipntl 25600.0
10/7/1 ung. dhonglbn 3000.0
11/1/2 wwhniuinwihG $nln 12656.9
(ARVERR VIR vl 105540.1
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h/h duvduunrup 2021p.
Owuwunbuwé
4111 U2fjuwtnwiywnpd 29450.0
4112 wwnpglwunpnid, np. jupwhuniuned 4000.0
4212 tGEpgEwnhy wrwnipnLtbtn 4200.0
4213 yndncbwy dwn. 50.0
4214 Jwwh dwr. yswp' 220.0
4215 Uwwhnwgpwlwb éwhubp 250.0
4221 OUGpphG gnpéninnud 200.0
4232 hwiwlwngswihb dwe. 265.0
4234 wnbnGuunduywi sdwe. 60.0
4237 GEpYwgnigswwl dwiu. 0
4239 nGnh. pGnuph wy wn. 3700.0
4241 dwulbwghwnwywb dwrwynipnt 50.0
4251 Gtilp. L Ywr. pbpwghy Gnpngnud wwhwwbned 0
4252 dtpth. L uwpp. pbpwghy Gnpngnid L wWwhw. 500.0
4261 gnpwu. Ojnipbp L hwgniuwn 300.0
4264 inpwluwynpuwihb Oynupkp 980.0
4267 YGhgwnuwihl L hwOpwiht ubnibn 1000.0
4269 hwunniy Gyywunwyuwihb wy Gnuepkn 700.0
4511 unLpuhnhwGbp 21000.0
4729 wj| GuwuwnGbp pniethg 3000.0
4819 Gyhpwuwnynipynibbbn wj| 2whnyp shGunwwlnnn 0
YwaqiwytpwnipintbGephl :
4891 wwhniunwihG $nln 12656.9
5112 260ptph L 2h0. Ywenignid 0
8113 2t0ptph L 2h0 Yww. yGpwbnpngnid 15658,2
5122 Jupswywb uwppwynpniibbp 5300,0
5131 Ustigynn wywnhylbph édbrp pbpnid 1000,0
5132 Ng Qnipwywb hhdbwywb dheonglbph dtrpptpnud 0
5134 twhiwgdwhbnwgnuwywb dwiuukp 1000,0
8131 Ui hhdGwywb dhonglbph hpwgniihg dniinpkn 0
8411 hnnh owwnntihg dniinpkp 0
EA T A 105540.1

uchuusSuuuuph Lursnhur /{//2,

41

=~

E. Uurqur3uv




	010
	011
	012
	013



